EST Math Funclions Part B
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[f h(x) = -x*+3x 2 and k(x) =_-2x-3,
what is the value of h(k(-2))?

Given f(x)=x*“+4+3x—1, and

- L
(G1ven f(x) 2_,; 3; +1 and g(x) =2x—1, what 1S the

—> g(x) = —3x + 5, whatis the value of S it Moassd coroscating
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EST Math Funclions Part B
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The graph of a polynomial equation n the xy-plane The points (3,0, (3,0), and (290) all lie in the
contains the pomnts (<1, 0), (2, 0), and (3:20). Which

. g xy-plane on the graph of the polynomial function |
of the following could be the equation of the graph?

Which of the following couid define f7

Cl flx) = (x=hi{x + 2){x+3]

Dy f(x)={x= 1) v=yx43)

IZ__ 5X 7"'6 =0
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EST Math Function Part B
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g(n)\ésn + 1 \ﬁg(n)=4n -5
(n)—n —n ——»h(n)=2n+l

Fmd gf®) _— Find g(h(8))

F(3)= @)Z_ @ L\(‘D 2(D+1 )
56)+

(5% 3 _
6 5—*: 6(1235‘1(!3)“’5
- 63
The function g is defined by g(x) = ax’-2x-5 — h(a) =-24% +3a
and g (-1) = 1. What 1s the value of(g (2) =q—
Find h(g(—l))

gla)
2 (1) =5 =
at-l =" : 4f-1) - - -3

2 43(1)
T 2(2)-'S (- = - 20-Y)" +3
6 (2)- Y.
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EST Math Functions Fart C

The graph of the function fis shown in the xy
plane above, where ¥ = f(x). Which of the

following functions could define 77

The graph plotted above represents which of
the following functions?

A f(x) = (x + 1)(x=2)? A ) =0 —3)(x —1)Y%(x +2)%
B. f(x) = (x — 1)(x + 2)?
B B. £x) = (x—3)2(x — 1)(x+2)

D. f(x) =(x—2)(x+ 1))¢

© £00) = Ox + 3+ 1)20x — 22

D. £00) =0c+3)°(x+1)x~-2)

(2+5) (x3) (x-))

2y

y= fix)

The graph of the function fis shown in the xy-plane
above. Which of the following could define /7
The graph above depicts a function f{x). How

any) solutions does the equation @ = 03>
q:a : —

maiat? ' f A) /(x)--i—(x+5Xx+3Xx-—l)
B, 2 2 B flx)=—lx+ 5K+ Ix~1)
D. 4

) j(x)-—:-(:—SXx-JXx+l)

D) Jx)= -%u-sxx-sxx +1)
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EST Math Functions Fart D
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{ \b\»)
I £(x) = -2x+8, then f1(1) = p
R f(f(x) = -2x+6, then f1(x) =
A 9/2 J 25+ q:-?z W\ + 6
) A 2-X/6 - /
7 .
/2 ) pe 2 B.2/6X g 4o
C.hg e ©6-x/2 .
D. 0 -l D. 2x-6
Find the inverse of the function Which of the following is the inverse function o®= 2X - 37
> P
@ =2(x -4)? ,x=0 Q100 =(fx + 3y2 X2
3 .
76‘_\2(\&_(45 1 (x) = x +3/2 7(4—3 :\9‘\&
= , = —
A Of7 (0 = VEX-8) 7 ) 7
ﬂ@f-] (X) =V2\/X -1 4 F ) (\S_ug&\ '/:'\’f'1(x') =(2x -3+ 3)/2
. z U
(QOf () =/T2x) +4

D Of¥(x) =5/ X + 4 E .,.L/:‘Sw
2

Find the inverse of the function

e
4
@=2x—5 xX=“"3-)
)(_’_?:\1"3
A Of' (x) =1(x-5) 2

@Qf" (x) = Va(x + 5)
C Of '"(x) =¥x+5

D Ofl(x) =2x-5
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The relallons;ﬁp between x and y is linear, and some
values for the relationship are shown in the table
above. When graphed in the xy-plane, the line that
represents the relationship between x and y passes
through the point (-1,a). What is the value of a?

A) -1 ). B AL+
N 7L
& -
D)9 } - ’fi*tg_
4 -S

Sclected values representing the total cost y, in
dollars, to rent a canoe for x hours are shown in

the table above. The relationship between x and y 1s
linear If the data are graphed n the xy-plane, what

is the Sslope.of the hne that represents this situation?

Mr. Kably
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Linear Equations Part A

' vy-plane, what 1s the slope of the hine that

passes through the pomts (0.0) and (3.4)?

A)

B)

C)

1))

3
4

1

3

3

For a function f, f{-1)=12 and f{1)=16. If the graph
of yv=1{x) 1s a line 1n the xy-plane, what 1s the slope of the

line”?

H

X f(x)
0 -2
2 4
6 16

Some values of the linear function f are shown in the
table above. What is the value of f(3) ?

A) 6
B) 7
C) 8
D) 9
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A cable company recorded the percentage of households
in the United States that had cable television from 1987 The scatterplot below shows the number of

to 1997. In the scatterplot below, x represents the congresstonal representatives, x, and the population

nun.lber of years since 1967 and y represeats the y, n thousands, for 25 of the 50 states n the United
percentage of households with cable television.

The line of best fit for the data is shown. Sates.
Households with .
y Cable Television _ '
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. 0 2 4 6 8 10 > Number of congressional representatives
Number of years since 1987
Which of the following is closest to the equation of Which of the following could be an equation of 2
the line of best fit shown? line of best fit for these data?
/ A) y=-31+716x
A)y=5u+; )y
‘ B) y=-31-T16x
B) y= 7x 54 XX
y-S C) y=-31+7x
/ D) y=-31-7
€ y= -;x +54 y X
7
D) y==
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EST Math Linear Equatlions Part B
g
o
riJe
e |
Y un Which of the following is an equation of the line
2 graphed in the xy-plane above?
What 1s the slope of the line shown in A) 1
the graph? y= --,)-x-b-lO
1 ' =
—a / .
g /( S’Q = — B) 1
@ — Na2 % ”=—-;X+5
' -
C. —3 “ y=-2x+10
D. —2
D) y=u—2x+5

H

'
What 1s the equation of the hine /__ %
passing through A (1,0.5) and m | = T =5
perpendicular to the graphed line? B

A y--;-x

B. y=2x--
7 3

C. y=;x—;
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